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Section : Technical_Electrical Engineering

Q.1 3-al (3T) 50 F&sT BRoT witeR Y quf wite TRY 1440 rpm &1 gt 1 < 7T AR
Ans X' A6

X B2

Kcs

o D4

Question ID : 8970322835
Status : Answered
Chosen Option : 4

Q.2 In which topology are multiple nodes connected to a central component?

Ans X" A Bus topology
( B. Star topology
5 C. Ring topology

X D. Tree topology

Question ID : 8970322848
Status : Answered
Chosen Option : 4

Q.3 f=fafaa 7 9 fFa urg ol e arR & ®u d S A8l fhar ST S 82
Ans B A qiar

o B

25 coaid

X D. s g arg

Question ID : 8970322853
Status : Answered
Chosen Option : 2

Q.4 U Sl I it ifdepad ear & aifdres g gl 81
Ans J A. 40 per cent

x B. 70 per cent

x C. 60 per cent

?(' D. 50 per cent

Question ID : 8970322866
Status : Answered
Chosen Option: 1




Q.5 UIEY gAeeTs & ofiales aare ______ @ &1 @l g1 A1fay, MR U8 dedT dilgl (1R 3IRRA) /@

Eoikdl
Ans " A 100 mm

o B.10mm
25 C.20mm
#5 D.50mm

Question ID : 8970322813
Status : Answered
Chosen Option: 3

Q.6 Which of the following losses are found only in the wound rotor induction motors?

Ans « A. Brush contact losses
x B. Rotor ohmic losses
x C. Stray load losses

x D. Stator ohmic losses

Question ID : 8970322834
Status : Answered
Chosen Option: 2

Q.7 fega vonsht fi Rryfaar gawis w F=fafEa § @ e wu § s foear srar g?
Ans  off A (et 5 - auT 62) / et 5] wfdy o

25 B. [ger 6 / ey ] ufy o

25 C. [maum 6 / gt €] ufd ad

25 D. [(@e1 52 + sHae ) / et ] wfe

Question ID : 8970322828
Status : Answered
Chosen Option: 1

Q.8 For which of the following instructions are 9-bits involved in the rotation?
Ans A RRA

25 B.RLA
o C.RRCA

75 D.SWAPA

Question ID : 8970322844
Status : Not Answered
Chosen Option : --

Q.9 AWK Rrg NOVRAM 21

Ans X" A et ROM
5 B. &ae RAM
o C. EEPROM 3R RAM it fitsior
£5 D. &ae PROM

Question ID : 8970322843
Status : Answered
Chosen Option: 2

Q.10 ‘caf sreeerd farg nfa aret sreeAe™d &g wird &2
Ans " A 125@ 500 rpm




o B.1500@ 3000 rpm
5 . 800 1200 rpm
< D.500@ 800 rpm

Question ID : 8970322831
Status : Answered
Chosen Option : 2

Q.11 Which of the following statements is NOT correct for a squirrel-cage induction motor?

Ans

x A. Itis highly reliable
f B. It has variable rotor resistance
?( C. It is maintenance free

x D. It has simplest construction

Question ID : 8970322915
Status : Answered
Chosen Option: 2

Q.12 In a long or medium transmission line, the phenomenon causing receiving end voltage to be

Ans

greater than sending end voltage under no load condition is called:

x A. skin effect

x B. Corona effect
x C. loading effect
f D. Ferranti effect

Question ID : 8970322875
Status : Answered
Chosen Option : 4

Q.13 The irregularity factor for polished wires is:

Ans

#5 A.0.83100.87
2% B.0.93100.98
25 C.0.801t00.85

o D1

Question ID : 8970322877
Status : Answered
Chosen Option: 2

Q.14 1 mA, 50 0 r3mfaaer (D'Arsonval) FHFaE 10 V JO-Fe deeHel & 9 # 3N F F T

Ans

T YR & A A0 F1 oy Sl # Sier = @ieel

X A 0000 Q
X 5. 10,000 Q
W' C 9950 Q
& D 8950 Q

Question ID : 8970322949
Status : Answered
Chosen Option : 3

Q.15




Tega sm@w % wau #, ey vde fea e oo 32

Ans X A wftbe fa

W B =R
X c.w
25 D.guae

Question ID : 8970322896
Status : Answered
Chosen Option : 4

Q.16 Which of the following type of tariff is three-part tariff?
Ans X" A Flat demand rate

x B. Hopkinson demand rate

« C. Doherty rate

x D. Step meter rate

Question ID : 8970322870
Status : Answered
Chosen Option : 3

Q.17 & grg) SR (Ta.v9. <) SReR & Seme & Rigia o g?
Ans X A waftiT @ P

7% B. fate o P

of C. = @

25 D. S & P

Question ID : 8970322867
Status : Answered
Chosen Option : 3

Q.18 Which of the following instruments used for maintenance can measure voltage, current,
continuity and resistance?

Ans \f’A.MuItimeter

x B. Megger

?( C. Function generator

5 D.CRO

Question ID : 8970322826
Status : Answered
Chosen Option: 1

Q.19 o fFrea sras s 20 Q @ aiafis wfawy &, & 39T et Reewor (fEefrre) & oo
T e §1 afy 3 S 50 sin ot § 3R T (Fs) 9foRe 800 @ §, I &R (F1s) o & orms
A AT R

Ans X" A 61mA

W B.305mA

25 C.19.4mA
5 D.38.8mA




Question ID : 8970322908
Status : Answered
Chosen Option : 2

Q.20 Ueh farstelt @3 #, fAeqd SFReR, eXams, afaeR, ek (ATSehel) SR w1 SO Y &1« shAST:
0.97, 0.95, 0.92, 0.42 3% 0.33 &1 HERIhI ol T & et fArstelt a1 fohert ufdera @ua giar &2

Ans " A 3.27 per cent
« B. 7.32 per cent
x C. 6.71 per cent
x D. 2.73 per cent

Question ID : 8970322819
Status : Not Answered
Chosen Option : --

Q.21 wger fi g (Feafn) e i R rearaedt & e vy smar 82
Ans A KA

B. kWh
C. MVA
D. kV

Question ID : 8970322854
Status : Answered
Chosen Option : 3

Q.22 3-FIYe AND e & 313eYe e giar & S l............ 1
Ans A &g 3qc sifdre T8 &

B. @S ek 3TYC 31fAeh §

C. it gqe aifdves &

D. &S &l gTqe 3ifdeh &

Question ID : 8970322923
Status : Answered
Chosen Option: 3

Q.23
Ans A.assumed lumped at the sending end

B. assumed lumped at the receiving end
C. assumed lumped at the midpaint

D. divided into two halves

Question ID : 8970322874
Status : Answered
Chosen Option : 4

Q.24 Which of the following capacitors has the lowest value of leakage resistance?
Ans A. Paper capacitor

B. Electrolytic capacitor
C. Ceramic capacitor

D. Mica capacitor

Question ID : 8970322947
Status : Answered
Chosen Option: 3

Q.25 " ulkfEafaa & gar ft wrdega arrf fra-h gidt &2




Ans A 30 kV/cm
B. 60 kV/cm
C. 100 kV/cm
D. 150 kV/cm

Question ID : 8970322935
Status : Answered
Chosen Option: 1

Q.26 Ueh UiaR Ha-"ithe # Hy=h (FAa<) frg o1 deat aret e &Y siferaw dwea farast gt 82
Ans A 2

B.3

C.4

D.5

Question ID : 8970322825
Status : Answered
Chosen Option : 1

Q.27 If a RED/GREEN multi-colour LED is switched fast enough between two polarities, it will
produce _________ colour.

Ans A.green
B. orange
C.red

D. yellow

Question ID : 8970322907
Status : Answered
Chosen Option : 4

Q.28 In a PLC, which of the following is NOT a subpart of Central Processing Unit (CPU)?
Ans A. Programmer

B. Microprocessor
C. Memory

D. Power supply

Question ID : 8970322842
Status : Answered
Chosen Option : 4

Q.29 SHFEH G YR UM A __ . ddu seggH e 8l
Ans A 4

B.1
C.2
D.3

Question ID : 8970322933
Status : Answered
Chosen Option: 1

Q.30 In case of two-port networks, which parameters are called transmission parameters?
Ans A. ABCD parameters

B. y-parameters
C. z-parameters

D. h-parameters




Question ID : 8970322905
Status : Answered
Chosen Option: 1

Q.31 Which of the following is NOT a fossil fuel?

Ans A. Coal
B. Qil
C. Wood

D. Natural gas

Question ID : 8970322861
Status : Answered
Chosen Option : 3

Q.32 1torr=
Ans A Hg a1 1inch (1inch of Hg)

B. 133 Pa
C. 1 bar
D. 14.6 psi

Question ID : 8970322944
Status : Answered
Chosen Option: 4

Q.33 2 HP, Gahe heT (f&71e1 that), Q€Y. 240 V 70 % F&1aT UR 311 21f<h Tureh 0.8 & Atex & forg fAfde

IRT AT gifi?
Ans A 10.95A

B.5.95A
C.9.15A
D.15.05A

Question ID : 8970322829
Status : Answered
Chosen Option : 2

Q.34 A= fradht s &2
Ans A SOIfe et

B. Safoafgar
C. s afh
D. saifa cferar

Question ID : 8970322801
Status : Answered
Chosen Option : 1

Q.35 In a hexadecimal system the radix is:

Ans A.15
B.1
C.8
D.16

Question ID : 8970322922
Status : Answered
Chosen Option : 4




Q.36 AT RRanfAdei & srgar foreft sRa & wte graicT # 5 A Tse Hiche o g2rfar 82
Ans A.T00W

B. 500 W
C. 1000 W
D.60W

Question ID : 8970322814
Status : Answered
Chosen Option: 1

Q.37 cifoR gifSweR @St (&.8.1e.) 1 haense A fhaar gar g2
Ans A.25

B. 50
C.10
D. 20

Question ID : 8970322926
Status : Answered
Chosen Option : 2

Q.38 sifderaw udt smgfa i mor R S ur 4-foe TRRisha FeR wRIY & S &R Gl 81 Ueds
foRTg-u=iTy & TR fawia &t 40 ns 3R T&a e 6t FierE 20 ns A 1

Ans A.12.5MHz
B. 6.25 MHz
C. 5.56 MHz
D. 16.67 MHz

Question ID : 8970322929
Status : Not Answered
Chosen Option : --

Q.39 Multi-stack variable reluctance stepper motors are widely used to obtain step sizes in the
range of

Ans A.2°to15°
B. 45° to 60°
C.15°to 30°
D. 25° to 45°

Question ID : 8970322838
Status : Answered
Chosen Option : 4

Q.40 Uk YfoTd RIAT (UeeR1SSE hiel) STOER IMT TS Qer ok fArare Q2r 3eu=
AT Bl

Ans A.60 %; 40 %
B. 50 %; 50 %
C. 80 %, 20 %
D. 70 %; 30 %

Question ID : 8970322882
Status : Answered
Chosen Option : 1

Q.41 12 UTeR VMl & forg, of-Tudha ufarte &1 fhamn sifdreras et a1 82
Ans A.

B.




Question ID : 8970322856
Status : Answered
Chosen Option : 1

Q.42 3ruF) udl & AR A gFarTdt semeof, goi-ste awrgo! o1 drT fhder giar 82

Ans A. 10 percent
B. 100 per cent
C. 20 per cent
D. 50 per cent

Question ID : 8970322833
Status : Answered
Chosen Option : 3

Q.43 8051 ATSshicheleR & o & = g &1

Ans A 4
B.5
C.6
D.7

Question ID : 8970322841
Status : Answered
Chosen Option : 1

Q.44 grsfae VR AR & 40 Vez gid iR 50 AR &id gid &1 U hluT 71d hi|

Ans A.3.6°
B.5.4°
C.1.8°
D.7.2°

Question ID : 8970322919
Status : Answered
Chosen Option: 1

Q.45 T&h Qehel-Teeh, 8-Thell agyeia (Aediuler), VIR Atex 7 6 Aex aia gid & | aft e gep ae &

IAfSa gla €1 e SITehR T 1|
Ans A.25°

B. 5°
C.15°
D.10°

Question ID : 8970322840
Status : Answered
Chosen Option : 3

Q.46 Which of the following is an iron ore?
Ans A Gypsum

B. Galone
C. Cryolite

D. Cinnabar

Question ID : 8970322939




Status : Answered
Chosen Option : 4

Q.47 The presence of carbon as an impurity in ferromagnetic material decreases:
Ans A. coercive force

B. resistivity
C. permeability

D. retentivity

Question ID : 8970322932
Status : Answered
Chosen Option : 3

Q.48 SieTdegd Suil & T aredd §?
Ans A FR 3

B. =f¥chg Isif
C. STeT 3ot
D. Ua ISt

Question ID : 8970322865
Status : Answered
Chosen Option : 3

Q.49
Ans A. TSR

B. g1+
C. Tgef=T 3R&R
D. UfeR Gfthe stat

Question ID : 8970322894
Status : Answered
Chosen Option : 4

Q.50 fAe[d URT UaTg 3 3Tt A 5 A, 3 pi Hiche stiSeste o farg orgeifa e fnasht gt 82
Ans A.300W

B. 1000 W

C.60W

D.100 W

Question ID : 8970322897
Status : Answered
Chosen Option: 1

Q.51 fA=fafaa & @ &= game g+ 6 3a1E 981 87
Ans A.Psi

B. Hg @1 mm ( mm of Hg)
C. Bar
D.N/m

Question ID : 8970322942
Status : Answered
Chosen Option : 4

Q.52 A 4-pole wave wound armature has 720 conductors and is rotated at 1000 rpm. If the useful

flux is 20 mWhb, calculate the generated voltage.
Ans A 480V




B.960 V
C.360V
D.240V

Question ID : 8970322920
Status : Answered
Chosen Option : 1

Q.53 Which of the following is NOT a characteristic of an unexcited single phase synchronous
motor?

Ans A. Operates from a single phase ac supply
B. Requires DC excitation for the rotor
C. Self-starting

D. Runs at constant speed

Question ID : 8970322832
Status : Answered
Chosen Option : 3

Q.54 132 kV H=ror & Qg srraraes Peiead fRdargs! (Teda sagied) 6 e fha gidt 82
Ans A.6

B.12
C.10
D.8

Question ID : 8970322878
Status : Answered
Chosen Option : 2

Q.55 In case of circuit breakers, the rate of rise of restriking voltage (RRRV) is expressed in:
Ans A KV/us

B.
C. kv
D. kA/us

Question ID : 8970322851
Status : Answered
Chosen Option: 1

Q.56 fA=faf@da A @ & 91 Soif TREIT i Qe SE1Evur 87
Ans A JifthY & g IRt ardTg e el 3@

B. S1%Rd & STAl 98 (STerRdTgvs) MThoReR & IuanT
C. M URURe TfoRieeh URaT Felex T SuaiT
D. TRATRY A &l STTE UaTgs! & el STTNT

Question ID : 8970322863
Status : Answered
Chosen Option : 4

Q.57 U 2- yfia (dle), 50 g&SA, 11 kV eal-Stex &Y :fEm 60 MW, agprrt 21f<h 7orer 0.8 1 MVA &
afi Y 3T /= ghfi?

Ans A.85MVA
B. 55 MVA
C. 75 MVA
D. 65 MVA




Question ID : 8970322860
Status : Answered
Chosen Option : 3

Q.58 240 V §.&. 3myfet & forg sxawrer dheret Y faege o1 a8+ emwan fohasit ghift st geret oot (Rivrer
o), 5 HP &Y 75% g&raT areft #iex 3R 0.8 21f<h otk uR Tanford gidt 82

Ans A.76.5A
B.51TA
C.38.23A
D.25.5A

Question ID : 8970322820
Status : Not Answered
Chosen Option : --

Q.59 F=faf@a & @ &= g Rega it a0 e g @2
Ans A §REXR

B. RmER

C. SHHTAER

D. dfgerk

Question ID : 8970322881
Status : Answered
Chosen Option : 2

Q.60 =¥ fRRAga-sraaiits Y samar forat gt 82
Ans A.99.5 per cent

B. 50 per cent
C. 99 per cent

D. 80 per cent

Question ID : 8970322883
Status : Answered
Chosen Option: 3

Q.61 A 4-pole d.c. generator runs at 750 rpm. and generates an emf. of 240 V. The armature is
wave-wound and has 792 conductors. If the total flux from each pole is 0.0145 Wb, what is
the leakage coefficient?

Ans A.1.6
B.1.8
C.1.5
D.1.2
Question ID : 8970322839
Status : Answered
Chosen Option : 4
Q.62
Ans A
B.
C.
D.

Question ID : 8970322902
Status : Answered
Chosen Option : 1




Q.63 A thermometer is calibrated from 150°C to 300°C. The accuracy is specified as * 0.2% of
span. What is the maximum static error?

Ans A.+0.6°C
B.+0.3°C
C.+0.03°C
D.+0.06°C

Question ID : 8970322948
Status : Answered
Chosen Option : 2

Q.64 Which of the following is static relay?
Ans A. Mho relay

B. Transistor relay
C. Thermal relay

D. Induction-cup relay

Question ID : 8970322852
Status : Answered
Chosen Option : 2

Q.65 farsrelt @ & wrTet A fohast ufarer wog A St o1 Su=T T[uTieh 3R &THdT I[UTich THTH ghm?
Ans A 4380 a1

B. 8760 dHer
C. 1000 et
D. 10000 ser

Question ID : 8970322805
Status : Answered
Chosen Option : 2

Q.66 farsTelt & == dieest faavur & R aieest foha= gi-r =nfu?
Ans A 251V3650Vada

B. 33 kV & sarer
C.651 VI 33kV&da
D.250 V@ &H

Question ID : 8970322811
Status : Answered
Chosen Option : 3

Q.67 & FYe YawaRfad (Exclusive)-OR e & g gfera+ aisie o 8?
Ans Al

B.
C.
D.

Question ID : 8970322925
Status : Answered
Chosen Option : 1

Q.68 Qe ardia g It g & forg Re=fof@e & & @ o1 ooy i vaTg o1 9t srgerd 82
Ans A FTOeR > TR Wgex > .Sl the > ShiAmTgeR > e

B. §1geR > §.8Y. T > TR idie? > gahiATATESR > Rt

C. arger > 312,81, T > ghHIAEeR > TR Wl > fRmet




D. STeR > SehIFTHATEoR > TR Mglex > 3ms. <1, e > ot

Question ID : 8970322885
Status : Answered
Chosen Option : 4

Q.69 Which of the following is the preferred protection for ground fault?

Ans

A. Plain impedance relay
B. Directional relay
C. Reactance relay

D. Overcurrent relay

Question ID : 8970322858
Status : Answered
Chosen Option : 3

Q.70 Which of the following is NOT a coolant used for fast breeder reactor?

Ans

A. Carbon Dioxide
B. Oxygen
C. Liquid metal

D. Helium

Question ID : 8970322888
Status : Answered
Chosen Option : 2

Q.71 #t.3mR.8it. fA=faf@a & @ foreeh A= & g sdume foran s 9erar &2

Ans A, hae STgR

B. dhaet fagra emr

C. et gieedr

D. dieean, faeq e, Sy SfiR shetia?

Question ID : 8970322827
Status : Answered
Chosen Option : 4

Q.72
Ans A 3-Tha, 3-aRR, e aees

B. 3-thol, 3-aR, ST
C. 3-thel, 3-amrR, St
D. 3-thel, 3-a1R, @R

Question ID : 8970322895
Status : Answered
Chosen Option : 4

Q.73 fA=afafEa & @ &F 91 &R 91 (Qae Asrde) S g S adter 82

Ans

A. AR TR TR (AR dAaer JTR)

B. argepd T UTTe! (TR Ut f&eH)

C. I TR fEtaeR (Sreemaie dadt f3eaeR)
D. f® 7 ugfd (WTse oy RieH)

Question ID : 8970322943
Status : Answered
Chosen Option : 4




Q.74 2-aR yoTel &, ATgf SR R giedst 500 V 0R fEAR &1 154 3 km &t &1 af per-wite e 120
A 8, dt IR STISeYE T g1 A1 aTfeh g8 B T dteest i 500 V gt 9ah | shrefefiet arawm=
TR ehelel a1 UfaRter 0.5 W/km a1 |

Ans A.2.16 kW
B.0.216 kW
C.21.6 kW
D. 216 kW

Question ID : 8970322879
Status : Answered
Chosen Option: 1

Q.75 When two conductors havetobejoined,____ isused.

Ans A. suspension clamp
B. jointing sleeve
C. binding wire

D. tension clamp

Question ID : 8970322815
Status : Answered
Chosen Option : 3

Q.76 In alternators, the distribution factor for the given number of phases is dependent only on
the:

Ans A. number of turns per coil
B. supply voltage
C. number of distributed slots under a givenpole

D. type of the windings

Question ID : 8970322918
Status : Answered
Chosen Option : 4

Q.77 Which of the following media access methods works on first come first served basis?

Ans A. Token passing
B. CSMA/CD
C. CSMA/BA

D. Master slave

Question ID : 8970322849
Status : Answered
Chosen Option: 1

Q.78 Ueh 3 ohedl WaRYT (3-Thel SIAMAM) TS H HTRUT S&TAT I STl @ Tol.enrevereeeeenenennes I
Ans A 1< T0TeR 9€ ST &

B. ¢IRT ¥Tcd 9 STt &

C. ¥TE dieeT 96 ST §

D. TeTeh &l TfaTé a1 STt &

Question ID : 8970322808
Status : Answered
Chosen Option : 3

Q.79 Which of the following is the correct sequence for heat transfer to water in a generator?

Ans A. Economiser, Evaporator, Superheater

B. Superheater, Economiser, Evaporator




C. Economiser, Superheater, Evaporator

D. Evaporator , Superheater, Economiser

Question ID : 8970322806
Status : Answered
Chosen Option : 3

gt afRe?
Ans A 400W

B. 1000 W
C.600 W
D. 800 W

Q.80 R faegga iffaw & IR, T =it / dwar ga-afthe (SuuaRu) wr sifdean wr fra-

Question ID : 8970322893
Status : Answered
Chosen Option : 4

Q.81 fA=fafaa & @ @t arefl Ridfes v 22
Ans A.S[C

B. TR
C. pled
D. 3=

Question ID : 8970322938
Status : Answered
Chosen Option : 4

Q.82 fA=faf@a d @ 9 o1 srgepfae uRuy (Riedae 9fhe) a1 e Sergvor &2
Ans A fGeo-g=ig

B. Tiehlex
C. IS A
D. ¥e?

Question ID : 8970322928
Status : Answered
Chosen Option : 1

Q.83 In flowchart representation, which of the following symbols indicates input/output?
Ans A. Oval

B. Parallelogram
C. Diamond

D. Rectangle

Question ID : 8970322845
Status : Answered
Chosen Option: 1

Q.84 In a steam power plant, the working fluid is:
Ans A oil

B. water
C. diesel

D. natural gas

Question ID : 8970322803
Status : Answered




l Chosen Option : 2 J

Q.85 What will be the value of slip during the braking region of induction motor characteristic?
Ans A.Between 0.5and 1

B. Between 0 and 1
C. Between 2 and 1

D. Between 0 and (-1)

Question ID : 8970322914
Status : Answered
Chosen Option: 3

Q.86 FHUAT LTS fhH TRE T TS 87

Ans A Tt 39S varg ufaferar examgT (AfSaet 37a€ weit Ryare exars)
B. 3Tt smeeas uarg ufafohar exars (St smeead welt Ruam axars)
C. r&fty vaTs ufdfehan exars (Qferrae vt Ruas ears)
D. faf9ra varg ufafehar exars (Fee et Ryas™ exameq)

Question ID : 8970322889
Status : Answered
Chosen Option : 3

Q.87
Ans A.2V,1TmA

B.4V,1TmA
C.8V,1TmA
D.6V,1TmA

Question ID : 8970322909
Status : Answered
Chosen Option : 4

Q.88 In OSI model accounting, addressing and routing functions of the system are provided by:
Ans A. application layer

B. network layer
C. transport layer

D. physical layer

Question ID : 8970322850
Status : Answered
Chosen Option : 2

Q.89 f=faf@a # @ w9 ot g . ufar & fAawor & fAg g du vomeht & &2
Ans A Uehl-ahell di=T-aR ToTTett (Rrer-thet off-amer fReew)

B. Qehel-ahell al-aR UoTet! (Rrer-thet g-amer faee)

C. &I-hell G1-aR Ul (g-the ¢-aTaR faeed)

D. ST fH-aR HoTTett (g-thet off-amer RfeeH)

Question ID : 8970322807
Status : Answered
Chosen Option : 1

Q.90 yraRTeR fEnfar &1 9= st afie Far @2
Ans A TmR famfar

B. e yew femfn




D. BRES dledst femfar

Question ID : 8970322903
Status : Answered
Chosen Option : 2

Q.91 34TfAIERIT T TGN ek ! ATUA & forg forarsta e v Suat fora smar 21
Ans A 21fh

B. g1

C. dteear

D. smgfxr

Question ID : 8970322945
Status : Answered
Chosen Option : 4

&

Ans A.d=dr
B. er=fema=
C. ufeRy

D. 3maTaaefdr

Q.92 g AN # Feif &t ramfa & & fog ues arft i eman &t fra T & aRarfRa fear mar

Question ID : 8970322936
Status : Answered
Chosen Option : 4

Q.93 Thermopile is a:
Ans A. series connection of thermistors

B. series connection of RTDs
C. parallel connection of thermocouples

D. series connection of thermocouples

Question ID : 8970322941
Status : Answered
Chosen Option : 3

Q.94 A 3-phase semi-converter works as a six-pulse converter when the firing angle a is:
Ans A. between 60° to 120°

B. between 0° to 60°
C. between 90° to 150°

D. between 120° to 180°

Question ID : 8970322904
Status : Answered
Chosen Option : 4

Q.95 8051 #, HiRaer ST T=R T1eFl & g, A#is 1 1 A« T glar 82
Ans A TEMEWR aRkgad A

B. AT UART &8
C. ISR fheres s
D. e Ioex At

Question ID : 8970322846
Status : Answered




l Chosen Option : 2

Q.96 Which of the following CANNOT be covered under the head of initial cost of power plant?
Ans A. Equipment cost

B. Maintenance cost
C. Land cost

D. Building cost

Question ID : 8970322802
Status : Answered
Chosen Option: 2

Q.97 A resistor is colour coded with blue, grey, orange and silver bands. Find the value.
Ans A.

B.
C.
D.

Question ID : 8970322946
Status : Answered
Chosen Option: 1

Q.98 Simplification of the Boolean expression Y = AB + ABC + ABC' is:
Ans A.Y=ABC

B.Y=AB
C.Y=AB+BC
D.Y=BC

Question ID : 8970322930
Status : Answered
Chosen Option : 2

Q.99 whi-we foheent geh st urg 8?
Ans A wifeaw ik Afeaw

B. iR 3R et
C. B 3R feo
D. =fél ofR |

Question ID : 8970322937
Status : Answered
Chosen Option : 3

Q.100 Which of the following is INCORRECT regarding the classification of substations on the
basis of operating voltage?

Ans A. Ultra-low voltage substation
B. Ultra-high voltage substation
C. High voltage substation

D. Extra-high voltage substation

Question ID : 8970322823
Status : Answered
Chosen Option : 1

Q.101 g rumaderurarT & 3ifdes 7 g+t wnfdw)
Ans A, 3ifean SMYf &mT & (1/100)

B. Siferena# STgfd T et (1/500)




C. rfArehas Smyfel &1 & (1/5000)
D. 31freras STgfcf &mT @1 (1/1000)

Question ID : 8970322824
Status : Answered
Chosen Option: 3

the reserve capacity over and above the peak load if the maximum demand is 60 MW.
Ans A 75 MW

B. 45 MW
C.15 MW
D. 60 MW

Q.102 A power plant has load factor of 0.75, capacity factor of 0.60 and use factor of 0.65. Find

Question ID : 8970322890
Status : Answered
Chosen Option: 1

Q.103 The insulation resistance test is performed using a/an:
Ans A ammeter

B. megger
C. galvanometer

D. voltmeter

Question ID : 8970322822
Status : Answered
Chosen Option : 2

Q.104 In industrial communication, DTE stands for:
Ans A.Data Terminal Equipment

B. Digital Transmission Error
C. Data Transmission Equipment

D. Data Transmission Error

Question ID : 8970322847
Status : Answered
Chosen Option : 4

Q.105 Secondary of the linear induction motor consists of a:
Ans A. flat aluminium conductor with aiferromagnetic core

B. flat copper conductor with a ferromagnetic core
C. flat copper conductor

D. flat iron conductor

Question ID : 8970322837
Status : Answered
Chosen Option : 2

Q.106 3-eAT HAROT (3-Thet ETAMARM) F184 &Y emar fAfafad 7 @ forads ary Tedt 82
Ans A URT 99 & FgiRY

B. giafix dteder & g

C. 1f<h T7oTeR & et

D. TTeTeh & AaTS & Sgrast

Question ID : 8970322873
Status : Answered




l

Chosen Option : 2

Q.107 freft Haror wmse & forg, i SweT dueh (Faes) utiard S wedes i arfar 10 pF &, afk

TG ©R g | ulkafdd g, at ude enRan forasht ghft?
Ans A 15pF

B. 30 pF
C.3.34F
D. 45 pF

Question ID : 8970322880
Status : Answered
Chosen Option : 2

Q.108 The formation of small and stable bubbles throughout the boiler water is called:
Ans A.bagging

B. priming
C. foaming

D. carryover

Question ID : 8970322886
Status : Answered
Chosen Option : 3

Q.109

O 0o w »

Question ID : 8970322924
Status : Answered
Chosen Option : 3

Q.110 Which of the following is a valid disadvantage of Sulphur Hexafluoride circuit breaker?
Ans A. High maintenance

B. Operation is noisy
C. Arced gas is poisonous

D. Gas is flammable

Question ID : 8970322855
Status : Answered
Chosen Option: 1

Q.111 Which one of the following is NOT a characteristic of a DC series motor?
Ans A.No load speed is dangerously high

B. Armature current = field current
C. No load speed is zero

D. Main flux is directly proportional to armature current

Question ID : 8970322912
Status : Answered
Chosen Option : 3

Q.112 Uah UTaR R Qe &1 & 192000 kWh S1TYfef &hvelt & SR 39T 31fdehas ¥R (dies &) 20000

kW &1 €331 T &fSieh WR T[uTieh 31a hifaigl
Ans A.0.2




B.0.1
C.04
D.0.6

Question ID : 8970322869
Status : Answered
Chosen Option : 3

Q.113 Identify the renewable source of energy from the given options.
Ans A Sun

B. Fossil Fuels
C. Nuclear fuels

D. Wood

Question ID : 8970322862
Status : Answered
Chosen Option : 1

Q.114 Pin insulators can never be used above:
Ans A.22kV

B.11kV
C.33kV
D. 6.6 kV

Question ID : 8970322816
Status : Answered
Chosen Option : 3

Q.115 urT Fi ufeRtererar ot avg 9 fora aroae & = T gt st g2
Ans A 4.2°K

B.16.2°K
C.10.2°K
D.24.2°K

Question ID : 8970322934
Status : Answered
Chosen Option : 1

Q.116 Eddy current losses in the transformer are:
Ans A.directly proportional to the freguency squared

B. inversely proportional to the thickness of the lamination
C. inversely proportional to the field strength

D. inversely proportional to the frequency

Question ID : 8970322916
Status : Answered
Chosen Option: 1

Q.117 An 11 kV, 500 MVA circuit breaker suddenly closes on to a fault. Find rms value of the
symmetrical breaking current.

Ans A 3224 kA
B. 45.45 kA
C.26.24 kA
D. 52.48 kA

Question ID : 8970322859




Status : Answered
Chosen Option : 3

Q.118 In distribution systems, the conductors which connect the sub-station to the distributors are
called

Ans A. boosters
B. substation
C. feeders

D. service mains

Question ID : 8970322872
Status : Answered
Chosen Option : 3

Q.119 A power plant with 80 MW capacity has a peak load of 60 MW. Loads with maximum
demands of 30 MW, 20 MW, 10 MW and 15 MW are connected to the plant. Find the
diversity factor.

Ans A.0.8
B.1.33
C.1.25
D.0.75

Question ID : 8970322809
Status : Answered
Chosen Option : 3

Q.120 If we group four 1's from the adjacent cells of a K-map, then the group is called:
Ans A quad

B. byte
C. nibble

D. word

Question ID : 8970322927
Status : Answered
Chosen Option: 1

Q.121 W= gl smifést wget & g, wgfSin 1otien foheds SRR giar 82
Ans A.1.65

B.1.45
C.1.85
D.1.25

Question ID : 8970322830
Status : Answered
Chosen Option : 4

Q.122 Teh Mt gRT 59 hg 8 @GS a19 ot foha=m glar 87
Ans A.

B.
C.
D.

Question ID : 8970322804
Status : Answered
Chosen Option : 3

Q.123 For achieving grading, the ratio between major and minor fuses shall be or more.




Ans A.

Question ID : 8970322900
Status : Answered
Chosen Option : 2

Qi2agefigdagRa__ gFed el urd &=el 81
Ans A

B.
C.

Question ID : 8970322868
Status : Answered
Chosen Option: 1

Q.125 A bipolar DC line has conductor(s).
Ans A three
B. one
C. four
D. two

Question ID : 8970322871
Status : Answered
Chosen Option : 4

Q.126 The inverse-square law correlates Illumination of the surface (E), luminous intensity (I) and
the distance between the source and the surface to be illuminated (r) by the formula:

Ans A.
B.
C.

Question ID : 8970322818
Status : Answered
Chosen Option : 3

Q.127 Which of the following statements is INCORRECT for a polyphase induction motor?
Ans A.ltis also called asynchronous machine

B. Stator winding is directly connected to the a.c. source
C. It is a singly excited a.c. machine

D. Rotor winding is directly connected to the a.c. source

Question ID : 8970322836
Status : Answered
Chosen Option : 4

Q.128 In case of overhead lines, the sag of the conductor is:
Ans A. directly proportional to the length of the span squared

B. directly proportional to the tension at the lowest point
C. inversely proportional to the weight of the conductor per unit length

D. directly proportional to the length of the span




Question ID : 8970322817
Status : Answered
Chosen Option: 1

Q.129 As per the standard electrical designing, the recommended schedule for 5 Aand 15 A
socket outlet for dining room is:

Ans A.2and 1 respectively
B. 3 and 2 respectively
C. 2 and 2 respectively

D. 1 and 1 respectively

Question ID : 8970322898
Status : Answered
Chosen Option: 1

Q.130 foret Reardt RfRerR) it fFfa sigf (enmeeye frad) frash gt 82
Ans A 4.0* Ry smgf

B. 0.25 * f4der smgfy
C. 2.0 * e gy
D. 0.5 * fAder amgfa

Question ID : 8970322906
Status : Answered
Chosen Option : 3

Q.131 In a 3-wire DC transmission system, if the potential difference is 460 V, then the potential
difference of positive outer above the neutral will be:

Ans A.230V
B. 115V
C.-115V
D. 460V

Question ID : 8970322810
Status : Answered
Chosen Option: 1

Q.132 a1z FeR A= &, Qe o1 adad fha=r glara?
Ans A. 8 bits

B. 4 bits
C. 16 bits
D. 1 bit

Question ID : 8970322921
Status : Answered
Chosen Option : 2

Q.133 Under the Indian Electricity Rules, the maximum permissible frequency fluctuation is:
Ans A.+10 % of the declared frequency

B. + 1 % of the declared frequency
C. + 5% of the declared frequency

D. + 2 % of the declared frequency

Question ID : 8970322812
Status : Answered
Chosen Option : 4




Q.134 Tig=h 5a staRar A fasrelt fir smgfef it engf foraeit &2
Ans A.50Hz

B. 100 Hz
C.60 Hz
D. 120 Hz

Question ID : 8970322892
Status : Answered
Chosen Option : 3

Q.135 The voltage level used in the high-tension cables to transmit power is:
Ans A.between 66 kV and 132 kV

B. up to 1000 V
C. up to 23,000 V
D. between 33 kV and 66 kV

Question ID : 8970322876
Status : Answered
Chosen Option : 3

Q.136 Use of light colours on walls reduces the lighting requirements by up to
Ans A.10 percent

B. 40 per cent
C. 80 per cent
D. 20 per cent

Question ID : 8970322864
Status : Answered
Chosen Option : 1

Q.137 g faega 3if e & a5 4, Fafaf@a & @ w9 gfofa (gergss) Saa o g?
Ans A fda esuaR

B. efém sy sk

C. Regeiem AR
D. TTgeRIE 7R

Question ID : 8970322884
Status : Answered
Chosen Option : 4

Q.138 The voltage gain of the common collector configuration of a transistor is:
Ans A.10

B. 100
C.lessthan 1

D. 500

Question ID : 8970322901
Status : Answered
Chosen Option : 4

Q.139 Which of the following types of loss occurs only in wound rotor induction motors?
Ans A. Stray load loss

B. Brush contact loss
C. Stator ohmic loss

D. Rotor ohmic loss




Question ID : 8970322913
Status : Answered
Chosen Option : 4

Q.140 Which of the following impurities causes temporary hardness in feed water?

Ans A Bicarbonates
B. Sulphates
C. Nitrates

D. Chlorides

Question ID : 8970322887
Status : Answered
Chosen Option : 2

Q.141 5T & Sk &t HuTRA 0.03 pF Y et urlar 1 alRome 2d €1 af & gom=iar d d@g=s &, at
et UTRAT 0.16 pF g1 T Henfat & 71 31a Al

Ans A 0.02 pF 3R 0.14 pF
B. 0.08 pF 37 0.08 pF
C.0.04 uF 3R 0.12 pF
D. 0.06 pF 3R 0.10 pF

Question ID : 8970322940
Status : Answered
Chosen Option : 3

Q.142 A 0 - 10 A ammeter has a guaranteed accuracy of 1 per cent of full scale deflection. What
will be the limiting error in the reading of 2.5 A?

Ans A.1 percent
B. 4 per cent
C. 2 per cent

D. 3 per cent

Question ID : 8970322950
Status : Answered
Chosen Option: 2

Q.143 Which of the following characteristics of a DC generator is called regulation curve?

Ans A. Load characteristic
B. External characteristic
C. Armature characteristic

D. No-load characteristic

Question ID : 8970322911
Status : Answered
Chosen Option : 1

Q.144 Internal wiring installations should be inspected:

Ans A.onceayear
B. once in 5 years
C.oncein 3 years

D. oncein 2 years

Question ID : 8970322821
Status : Answered
Chosen Option : 2




Q.145 foret oft u=wToy Fit Fr et Fan A geagiE Fi sifdean dea fhat g |adl 82
Ans A.8

B.18
C.32
D.16

Question ID : 8970322931
Status : Answered
Chosen Option : 2

Q.146 Which of the following is a disadvantage of a hybrid stepper motor as compared to a
variable reluctance stepper motor?

Ans A. Greater torque per unit volume
B. High inertia
C. Less tendency to resonate

D. Small step length

Question ID : 8970322917
Status : Answered
Chosen Option : 4

Q.147
Ans

O 0w >

Question ID : 8970322910
Status : Answered
Chosen Option : 3

Q.148 3HTd & 9 Qe S 130 Y saels & AT = o1 A= foha=t @ &va =g g anfge?

Ans A.6 mm
B. 12 mm
C.4mm

D. 16 mm

Question ID : 8970322899
Status : Answered
Chosen Option : 2

Q.149 The minimum thickness of a bakelite sheet for flush mounting is:
Ans A Tmm

B.2mm
C.4mm

D.3mm

Question ID : 8970322891
Status : Answered
Chosen Option : 3

Q.150 fAAfafEa d @ &9 91 & gicest R & sifar-ae & g T oifdes wmra wurdt grem 82
Ans A TR s f@=

B. Rararee w=
C. gRuy faaieres (afdhe sam)




D. faerTen (SMEgiciex)

Question ID : 8970322857
Status : Answered
Chosen Option : 3

Section : General Knowledge_Awareness

Q.1 iy 3if3m Iea & SaerqR @ v 15 forft R Aedl 7E) oR a=man @1
Ans A ERIGS

B. T+t
C. gmrg

D. ARTR{ERR

Question ID : 8970322965
Status : Answered
Chosen Option: 1

Q.2 ¥RA & Hfaens Hr uxaraar A 1976 # ____ Taenfaers G ifdfaaw grr daitu= forar mar ami
Ans A 528

B. 42
C. 458
D. 55d

Question ID : 8970322964
Status : Answered
Chosen Option : 2

Q.3 f3ar sidem 299 2019 & FFAR, WRd o1 Tl IAfafie wgE 35y w9 a1 82

Ans A TSR

B. Sfech

C. &ed

D. 7gRTE

Question ID : 8970322954
Status : Answered
Chosen Option : 2

Q.4 is a term used for expressing GDP after adjusting for environmental degradations.

Ans A Green GDP
B. Blue GDP
C. Grey GDP
D. White GDP

Question ID : 8970322960
Status : Answered
Chosen Option: 1

Q.5 gufa & gATa Al afiehr St fh W & dfdun Y fatwar off @, forw 2 @ forar man &2
Ans A STEAT

B. 3RS
C. T<h T5T SAReAT
D. 3¢ fore

Question ID : 8970322962
Status : Answered




l Chosen Option : 3

Q.6

in the 1970s.
Ans A.Human Development Index

B. Gross National Happiness
C. Gender Inequality Index
D. Green GDP

is a term coined by His Majesty the Fourth King of Bhutan, Jigme Singye Wangchuck

Question ID : 8970322959
Status : Answered

Chosen Option : 2

Q.7 F=afaf@a d @ &= a1 sifdfaw 1857 i shifar & werasy smar?
Ans A T AR IR Tae

B. fogw ¥fean gae

C. ¥[ifém g

D. TaHe 3tk 3fean yae

Question ID : 8970322963
Status : Answered

Chosen Option : 4

Q.8 AZHSHA AR :

Ans A.‘'MOdulator/DEModulator’
B. ‘MOdulator/DEModern’
C. ‘MOdern/DEModern’
D. ‘MOdern/DEModulator’

Question ID : 8970322970
Status : Answered

Chosen Option: 1

Q.9 F=fafaa & & fra et o Su=mw 'fRed=' @2
Ans A g@ &g

B. Afga emf

C. 7igs g ot

D. ferTe shtgeft

Question ID : 8970322957
Status : Answered
Chosen Option : 2

Q.10 &Rkt d Ffafad & & ga@ d e w91 8?
Ans A dHieh

B. SRS ek

C. thiwese

D. 3% Tk

Question ID : 8970322956
Status : Answered
Chosen Option : 3

Q.11 fFrafaf@a & @ &, 2008 & gt gy aearedl e @ea § @ ge 78 8?2
Ans A TESMEdT / TeH, Haifvar ofik s fieRat & gerreren




B. oITeT Hg & | et
C. Heafies frem & mfeq

D. T=H TR 3R @A T I

Question ID : 8970322961
Status : Answered
Chosen Option: 3

Q.12 SragER 2019 # AT & SiieR a1es | oI gosl & SilgR &y gidhl ghfe & Gear i
faaea _____ 3 YR o wIg_T A gI0eR? Siar AT |

Ans A sireferman

B. STTa™
C. ¥ faea

D. giteivg

Question ID : 8970322958
Status : Answered
Chosen Option : 3

Q.13 ran i afgen sialer szt 3 18 aragER 2019 aht gfaT @1 g Sifd-ga SHaich g1
heeh Sfagrd T[Tl

Ans A [Reo ok fgems
B. 35S R Aeheris
C. of ofik sifeiw
D. @i 3R HR

Question ID : 8970322953
Status : Answered
Chosen Option : 1

Q.14 fafeer Fordfea SRR ZRT 8 TR 1927 il TTFH HHI it = Fges favar mar am:
Ans A 8T

B. o g Usas

C. TTEeH 3rate

D. R e

Question ID : 8970322967
Status : Answered
Chosen Option : 2

Q.15 According to computer terminology:
1 terabyte = 1024 .

Ans A.terabytes

B. gigabytes
C. kilobytes
D. megabytes

Question ID : 8970322968
Status : Answered
Chosen Option: 2

Q.16 11 &f u=HTY] Sail Fiaeid 2019 SFaRER 20197 _____ # sifia fomam mmam am
Ans A 7 it

B. 4§
C. g
D. SR




Question ID : 8970322952
Status : Answered
Chosen Option: 1

Q.17 R AT FH Y TG a1 F Mperard doTare Hipd fdenerd & aReR | fore adf &i 7€

oft:
Ans A.1917
B. 1901
C. 1890
D. 1885

Question ID : 8970322966
Status : Answered
Chosen Option : 4

Q.18 2022 # g_arelt 91 off Seutet AT kT AT 227 ____ ghmi

Ans A ig
B. =+
C. YRd

D. sta=

Question ID : 8970322951
Status : Answered
Chosen Option : 3

Q.19 STaEER 2019 # WRA T &f&Yur ShierT Sie & diER % A9 # ardur e are @] g &

AR e g?
Ans A FER TG

B. Hdeh 3WRATCT

C. e1dIy greg

D. Mg A&

Question ID : 8970322955
Status : Answered
Chosen Option : 4

Q.20 freft +ff uehR @1 i +ff Airedar, St foreft Teta R & forar @, dvegeR rsETaEt & SIgER

U H TSI 81
Ans A TTEaTR

B. &t (CAPTCHA)

C. et
D. T

Question ID : 8970322969
Status : Answered
Chosen Option: 1

Section : Reasoning

Q.1
Ans A.

B.
C.
D.




Question ID : 8970322972
Status : Answered
Chosen Option : 3

Q.2
Ans A.
B.
C.
D.
Question ID : 8970322990
Status : Answered
Chosen Option: 2
Q.3
Ans A.
B.
C.
D.
Question ID : 8970322978
Status : Answered
Chosen Option : 3
Q.4
Ans A.
B.
C.
D.
Question ID : 8970322985
Status : Answered
Chosen Option : 4
Q.5
Ans A.
B.
C.
D.
Question ID : 8970322979
Status : Answered
Chosen Option: 3
Q.6
Ans A.
B.
C.
D.
Question ID : 8970322983
Status : Answered
Chosen Option : 1
Q.7
Ans A.




C.
D.
Question ID : 8970322973
Status : Answered
Chosen Option : 2
Q.8
Ans A.
B.
C.
D.
Question ID : 8970322980
Status : Answered
Chosen Option : 3
Q.9
Ans A.
B.
C.
D.
Question ID : 8970322974
Status : Answered
Chosen Option: 3
Q.10
Ans A
B.
C.
D.
Question ID : 8970322986
Status : Answered
Chosen Option : 4
Q.11
Ans A
B.
C.
D.
Question ID : 8970322976
Status : Answered
Chosen Option : 4
Q.12
Ans A
B.
C.
D.

Question ID : 8970322987
Status : Answered




Chosen Option: 3

Q.13
Ans A.
B.
C.
D.
Question ID : 8970322975
Status : Answered
Chosen Option : 3
Q.14
Ans A.
B.
C.
D.
Question ID : 8970322981
Status : Answered
Chosen Option : 4
Q.15
Ans A
B.
C.
D.
Question ID : 8970322989
Status : Answered
Chosen Option : 3
Q.16
Ans A.
B.
C.
D.
Question ID : 8970322977
Status : Answered
Chosen Option : 3
Q.17
Ans A.
B.
C.
D.
Question ID : 8970322982
Status : Answered
Chosen Option : 4
Q.18
Ans A.




D.
Question ID : 8970322984
Status : Answered
Chosen Option : 3
Q.19
Ans A.
B.
C.
D.
Question ID : 8970322988
Status : Answered
Chosen Option: 3
Q.20
Ans A.
B.
C.
D.

Question ID : 8970322971
Status : Answered
Chosen Option : 3

Section : General Hindi

Q.1 = & & = a1 gerert ‘A sm A s e 1 0ot T & o1 J ugh gl @
Ans A dfferaEr

B. dfier =&
C. sfter IoMT
D. sfter @ =T

Question ID : 8970322994
Status : Answered
Chosen Option : 3

Q.2 =A@ srufder 7 &--
Ans A aifh

B. ®Ueh
C. Iver

D. g&id

Question ID : 8970322996
Status : Answered
Chosen Option : 1

Q.3 = # @ smendfr a1 faeita T 8-
Ans A 3Rt

B. faantien
C. 3FThYh
D. UTehtich

Question ID : 8970322992




Status : Answered
Chosen Option : 4

Q.4 ‘SiTTe & T T areft 3T & fAY ek 21eg ad13¢
Ans A, STaIf=

B. eI
C. granf=
D. g™

Question ID : 8970322999
Status : Answered
Chosen Option: 3

Q.5 ‘U 3R &l fUR’ shgrad a1 o1 aarsy
Ans  A. 3R T BT g1

B. " @NTI &l a%g et TTem
C. g% A AT FaTel g

D. R} &t 3R 7 At grT

Question ID : 8970322995
Status : Answered
Chosen Option: 3

Q.6 ‘ah gfF Fe & g ' 21eg 99g & Y e 2= Ta1sg-
Ans A TTERG

B. Uga=aH T

C. gfgmm

D. Id?

Question ID : 8970323000

Status : Answered
Chosen Option: 1

Q.7 T yatgaTd! @g 6 ugaE &Ry
Ans A Ifaf9- grg, steamTa

B. 3MTh1ST- 31Hd, IRTTY
C. 3RUT- d189, Y

D. 3TeHT- §&Y, 9

Question ID : 8970322993
Status : Answered
Chosen Option : 4

Q.8 fgw+ ur Af@y, fo= uri &« g1
Tt 7Y 7 FeR Hidl AIGY AN ---- # U SRR hl uga Hiforg-
Ans A gH%

B. Ichter
C. <y

D. ®q&

Question ID : 8970322997
Status : Answered
Chosen Option: 3

Q.9 ‘IR ST T ST S TR X W’ # T HT AR §-
Ans A udiT




B. 9=g
C. yr=ae=

D. s =g

Question ID : 8970322998
Status : Answered
Chosen Option: 1

Q.10 A= 7 & a1y a1 yafgar=h i 8-
Ans A et

B.ga
C.ga
D. "ceh

Question ID : 8970322991
Status : Answered
Chosen Option : 1




